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1. Reason for Change
Currently, TR 29.835 contains a summary of conclusions for Key Issue #2. Similar table should be added also for the Key Issue #3. Also, title format should be aligned with KI#2.
2. Proposal
It is proposed to agree the following changes to 3GPP TS 29.835v0.3.0.
[bookmark: _Hlk61529092]* * * First Change * * * *
[bookmark: _Toc63666272][bookmark: _GoBack]7.4	Evaluation of Solutions for Key Issue #3 (new sub-range) and Conclusions
[bookmark: clause4][bookmark: _Toc63666259]7.4.1	Evaluation
Key Issue #3 is relevant for the scenarios, when IANA allocated default port numbers cannot be used, while a new 3GPP interface application may require a pre-defined (default)specific server port number. In other words, a server port for such an application needs to be statically allocated, so that any client can send the very first message to this known–in-advance port number. Hence, 3GPP needs to reserve a subrange of ports from the Dynamic/Private Port number [49152 - 65535].
[bookmark: _Toc63666260]7.4.2	Conclusions for Key Issue #3 solutions (new sub-range)
Solution#1 specifies that 3GPP needs to reserve 101 ports, from 65400 to 65500 and start allocating static ports for 3GPP interface application servers as necessary. Therefore, Solution#1 addresses Key Issue #3.
Multiple solutions, which rely on the static port allocation and also on dynamic port allocation will benefit from the solution to address Key Issue #3.
Editor's note: Other characteristics of the proposed solutions, like robustness, simplicity, etc. should be used for selecting the solution(s) that will be documented in 3GPP TR 29.941 [11].
Table 7.4.2‑1 summarizes which solutions cold benefit from addressing Key Issues #3.
Table 7.4.2-1: Summary of conclusions for Key Issue #3 (new sub-range)
	[bookmark: _Hlk62748566]Solution
	Port allocation method
	Applicable transport layer protocol
	Conclusion
	Additional comment

	Solution#1
	Static
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#2
	Static
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#3
	Dynamic
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#4
	Dynamic
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#5
	Dynamic
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#6
	Dynamic
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#7
	Static
	SCTP
	Will benefit from the new sub-range
	

	Solution#8
	Dynamic
	SCTP
	Not Pursued
	This solution is not considered further due to the impact on application nodes as explained in 7.3.1.5

	Solution#9
	Static
	SCTP
	Not Pursued
	Since TCPMUX is already deprecated by IETF, Solution#9 is not pursued further.

	Solution#10
	Static
	SCTP
	Will benefit from the new sub-range
	

	Solution#11
	
	All (Note 1)
	Will benefit from the new sub-range
	This solution however is out of direct 3GPP control and therefore should be pursued as an independent activity

	Solution#12
	Dynamic
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#13
	Dynamic
	All (Note 1)
	Will benefit from the new sub-range
	

	Solution#xx
	
	
	
	

	Solution#xy
	
	
	
	

	NOTE 1: 	The solution is applicable to TCP, UDP, SCTP and DCCP transport layer protocols.
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